FTHM3FELWbEHER 10 AEHEDOBE

E-3.1 A H EH | FAEFRZ - =
1 10/ 218 KR | FHET10 8 =& (¥8)
2 10/ 22 H & *r =
3 10/ 238 T *r =
4 10 A 248 H *r =
5 10/ 258 A | FHI108 =i (—HREM)
6 10 A 26 A K| FEI 10 B =i# (—HRER)
7 10/ 27 H K| FET10 B =i#E (—HRER)
8 104 288 AR | FHT10 8 =3 (—RE”)
9 10H4 29R & | FET106F FREZEAER
10 10 A 308 T *r =
11 10431 H H T =
12 1MTA1H A | FHET10 8 EREZE R
13 1MTA2H K| 10 B # A £ B =
14 11TA3H K *r =
15 11MTA4H N *r =
16 11TAS5H & | FET106F =& (&R#AH)

XASHZEIBZTOARICLY ., ERICELIBZEAHYFT,

[(EHEOFHKEE]
(A S D

MWD ERD E9,

[FEFE - BRIGDRAT]
AR - BRI

WOTHZITFFHTTunE T,
10H BB CEOREBELZHLEINLILEORDEIY HIZ,10H27H (k) T,

i 1 B CRBBEA30 T STV E T
BEIE, PSRRI RE L BRI (EATR A & FEA L. BEIR O &M &1 ¢




